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clgjfo{ ;fdflhs cWoogclgjfo{ ;fdflhs cWoogclgjfo{ ;fdflhs cWoogclgjfo{ ;fdflhs cWoogclgjfo{ ;fdflhs cWoog

-gof“ kf7\oj|md_-gof“ kf7\oj|md_-gof“ kf7\oj|md_-gof“ kf7\oj|md_-gof“ kf7\oj|md_
lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .
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;d"x ‘s’;d"x ‘s’;d"x ‘s’;d"x ‘s’;d"x ‘s’ (Group 'A')
tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ . &&&&&x!!!!!=&&&&&
Write very short answer of the following questions.
!= s0ff{nL k|b]zsf s'g} b'O{cf]6f ;fdflhs ljz]iftfx¿ n]Vg'xf];\ .

Write down any two social characteristics of Karnali Province.
@= ‘;Lko'St hgzlSt ;d[4 g]kfnsf] cfwf/ xf]’ lsg < Pp6f sf/0f lbg'xf];\ .

Skilled human resource is the foundation of prosperous Nepal. Why ?
Give a reason.

#= k~ra'4 g[To s:tf] g[To xf] <
What type of dance is Pancha Buddha dance ?

$= dfgja]rlavg lgoGq0fdf :yfgLo ;/sf/n] v]Ng'kg]{ s'g} Ps e"ldsf pNn]v ug'{xf];\ .
Mention a role that should be played by the local government to control
human trafficking.

%= zLto'4 eg]sf] s] xf] <
What is cold war ?

^= rfn' of]hgfsf] ;a}eGbf dxŒjk"0f{ r'gf}tL / To;sf] ;dfwfgsf] pkfo n]Vg'xf];\ .
Write the major challenge and its solution of current plan.

&= :yfgLos/0fnfO{ k|efjsf/L agfpg] s'g} Ps tl/sf s] x'g;S5 <
What can be the method to make localization effective ? Write any one method.

;d"x ‘v’ -;d"x ‘v’ -;d"x ‘v’ -;d"x ‘v’ -;d"x ‘v’ -Group 'B'_____
tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ . !)!)!)!)!)x$$$$$=$)$)$)$)$)
Write short answer of the following questions.
*= b'O{ k|b]zsf] gS;f oxf“ lbOPsf] 5 . oL b'O{ k|b]zaLr lgDg a'“bfsf cfwf/df km/s b]vfpg'xf];\ .

The map of two provinces are given here. Differentiate them based on the
given points below.
(i) k|d'v ko{6sLo:yn (Major tourism centre)
(ii) k|d'v Jofkfl/s s]Gb| (Major trading centre)
(iii) k|d'v gbLx¿ (Main Rivers)
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(= ‘dflyNnf] tfdfsf]zL cfof]hgf’nfO{ lsg ‘/fli6«o uf}/jsf] cfof]hgf’ elgG5 < o;af6 /fli6«o
ljsf;sf s'gs'g If]qdf k|ToIf ;xof]u k'U5 < s'g} tLgj6f If]q klxrfg u/L n]Vg'xf];\ .
Why is the 'Upper Tamakoshi Hydro Project' called as a project of 'National
Pride'? In which sectors of national development are directly benefited
from this project ? Identify any three sectors and write them.

!)= afn>d zf]if0f lj¿4 s}nfz ;TofyL{n] rnfPsf] cleofgnfO{ g]kfnsf ;fy} ljZjJofkL¿kdf
k|efjsf/L agfpg tkfO{ s] sbd rfNg'x'G5 < cfkm"n] ug{;Sg] rf/ of]ubfg n]Vg'xf];\ .
What steps should you launch to succeed the expedition conducted by
Kailash Satyarthi against the child labour in the world as well as in Nepal
also ? Write four contributions that you can do.

!!= eljiodf tkfO{+sf] kl/jf/sf ;b:osf] ljjfxdf bfOhf] lng] lbg] s'/f rNof] eg] tkfO{+sf]
k|ltlj|mof s] x'g]5 < rf/ a'“bfdf n]Vg'xf];\ .
How would you react while it is discussed regarding taking and giving
dowry in your family member's marriage in future ? Write in four points.

!@= ljZj dfgj clwsf/ 3f]if0ffkqdf k|bfg u/]sf dfgj clwsf/x¿ dWo] tkfO{+n] s'gs'g
clwsf/x¿ pkof]u ul//xg'ePsf] 5 < tL clwsf/ pkof]u ubf{ tkfO{+nfO{ s]s] kmfObf
ePsf] 5 <
Among them, what kind of Rights are you utilizing now which are provided
by World Human Rights Declaration ? What kind of benefits do you get
form the utilization of those rights ?

!#= ;+o'St/fHo cd]l/sf / Sofg8fdf s[lif Jofj;flos 5 . xfd|f] b]zsf] s[lifnfO{ klg
Jofj;foLs/0f ug{ pgLx¿af6 s] kf7 l;Sg ;lsG5 < rf/ a'“bfdf pQ/ n]Vg'xf];\ .
The agriculture is commercial in the USA and Canada. 'What should we
learn from them to make our agriculture commercialized ? Write in
four points.

!$= ;dlztf]i0f k|b]zsf dflg;x¿sf s'g} rf/j6f cfly{s lj|mofsnfkx¿ pNn]v ug'{xf];\ .
Write any four economic activities of temperate climatic zone.

!%= ‘@))& b]lv @)!& sf] bzs /fhgLlts ;+j|md0f / cl:y/tfsf] bzs lyof]’ eGg] ljifodf Ps
jSt[Tj tof/ kfg'{xf];\ .
The period of '2007-2017 B.S. was the decade of political transition and
instability'. Prepare a oratory on it.
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!^= s'g} ;Lklagf, ;fyLsf] nxnx}df j}b]lzs /f]huf/Ldf hfg tof/ ePsf tkfO{+sf l5d]sLnfO{
tkfO{+ s] ;Nnfx lbg'x'G5 < rf/ a'“bfdf pNn]v ug'{xf];\ .
What would you suggest to your neighbour going for foreign employment
with the influence of friend but not having any skills. Mention in four points.

!&= ;d;fdlos 36gf eGgfn] s] a'lemG5 < jt{dfg ljZjsf rf/j6f ;d;fdlos 36gfx¿sf]
;"rL agfpg'xf];\ .
What do you mean by current affair ? What are the current affairs
happening at present. List any four of them.

;d"x ‘u’ -;d"x ‘u’ -;d"x ‘u’ -;d"x ‘u’ -;d"x ‘u’ -Group 'C'_____
tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ .tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ . $$$$$x&&&&&=@*@*@*@*@*
Write long answer of the following questions.

!*= ‘df}lns xs / ;+ljwfgsf] ;+/If0fdf ;jf]{Rr cbfntsf] of]ubfg’ zLif{s cGtu{t Ps b}lgs
klqsfdf k|sflzt ug]{ n]vsf] gd'gf tof/ kfg'{xf];\ .
Prepare a model of an article to be published in a daily newspaper under
the title, "Contribution of Supreme Court: Protection of Fundamental Rights
and Constitution."

!(= k[i7el/ g]kfnsf] gS;f agfO{ pko'St ;+s]tsf] k|of]u u/L lgDg tYox¿ eg'{xf];\ .
Draw a full page map of Nepal and insert the following facts using
appropriate symbols.
u0f]z lxdfn (Mt. Ganesh), sf]zL 6Kk' (Koshi Tappu), d'lStgfy (Muktinath),
s0ff{nL gbL ( River Karnali)

cyjf -cyjf -cyjf -cyjf -cyjf -Or)
clk|msfsf] gS;f agfO{ lgDg tYox¿ eg'{xf];\ .
Draw a map of Africa and insert following facts.
gfOn gbL (River Nile), P6n; kj{t (Atlus Mountain), glda d?e"ld
(Namib Desert),  d8uf:s/ 6fk' (Madgascar)

@)= bf];|f] ljZjo'4sf sf/0fx¿ k|yd ljZjo'4sf kl/0ffdx¿;“u cGt/;DalGwt 5g\ s;/L <
ljZn]if0f ug'{xf];\ .
The causes of Second World War are interrelated with consequences of
the First World War. How ? Analyze.

@!= /fh:j eg]sf] s] xf] < k|ToIf s/sf kmfObf / a]kmfObfx¿ 5f]6s/Ldf j0f{g ug'{xf];\ .
What is revenue ? Explain briefly the merits and demerits of direct tax.


